MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

FOUR DECIMAL PLACES Name:
Time: Score: y—
»1-0.0004 x (—0.0004) = 26 —0.0009 x 0.0006 =
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—5 x 0.003 =
0.008 x 0.006 =
—0.007 x 8 =

—5 % 0.1 =

—0.7 % 0.06 =
3X 8=

0.01 x (—=0.06) =
0.2 x 0.004 =
—0.0003 x (—0.002) =
—0.008 x 0.003 =
7Tx(—=0.2)=
—0.2 x 0.001 =
10 x (—8) =

5 x 0.0004 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 3

10

257)

258)

259)

260)

261)

262)

263)

264)

265)

266)

267)

268)

269)

270)

0.01 x (—0.0009) =
0.05 x (—0.6) =
0.5 x 0.005 =

0.01 x 0.05 =
—0.08 x 0.006 =

9 x 0.06 =

—0.2x 2=

8 x (—8) =

—10 x (=7) =
—0.004 x (=0.001) =
0.001 x (—1) =
3x (—1) =

6 x (—0.004) =

0.3 x0.2=
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